
Lumo
POWER KIT INSTALLATION INSTRUCTIONS

C6902 Rev A  |  www.sitonit.net  |  1

https://www.sitonit.net/


2  |  C5902 Rev A  |  www.sitonit.net  

Lumo POWER KIT ASSEMBLY INSTRUCTIONS

•	 Cordless Drill

•	 #3 Phillips Bit

Recommended Tools

Read the entire instruction manual before you start installation and assembly. If you 
have any questions regarding any of the instructions or warnings, please contact 
your local distributor for assistance. 

To report any issues with this product, contact our customer experience team at: 
(888) 274-8664 or sitonit@exemplis.com.

Read the entire instruction manual before you start installation and assembly. If you 
have any questions regarding any of the instructions or warnings, please contact 
your local distributor for assistance. 

To report any issues with this product, contact our customer experience team at: 
(888) 274-8664 or sitonit@exemplis.com.

https://www.sitonit.net/
mailto:?subject=
mailto:?subject=


C5902 Rev A  |  www.sitonit.net  |  3

Lumo POWER KIT ASSEMBLY INSTRUCTIONS

•	 Infeed (1)

•	 Jumper (1)

•	 Power Module (2)

•	 Splitter (1)

•	 M8 x 19 mm Screw (59)

•	 P-Clips (45)

Parts

Power Modules
Infeed

Jumper

Splitter

M8 x 19 mm ScrewsP-Clips

https://www.sitonit.net/


4  |  C5902 Rev A  |  www.sitonit.net  

Lumo POWER KIT ASSEMBLY INSTRUCTIONS

Step 1: Lean the two models onto their backs so that the bottom can be 
accessed and connect the corner unit using the ganging bracket.

Flip over only two connected pieces at a time for safety.

Ganging brackets sold separately.

5⁄16"–18 x 1" Screw1⁄4" Hex L-Key

1:1 HARDWARETOOLS

https://www.sitonit.net/


C5902 Rev A  |  www.sitonit.net  |  5

Lumo POWER KIT ASSEMBLY INSTRUCTIONS

Step 2: Unzip typar to provide access to the frame.

https://www.sitonit.net/


6  |  C5902 Rev A  |  www.sitonit.net  

Lumo POWER KIT ASSEMBLY INSTRUCTIONS

Step 3: Attach the power infeed on one of the rear supports.

TOOLS1:1 HARDWARE

M8 x 19 mm Screw #3 Phillips Bit

Attachment Points

https://www.sitonit.net/


C5902 Rev A  |  www.sitonit.net  |  7

Lumo POWER KIT ASSEMBLY INSTRUCTIONS

Step 4: Attach the splitter on one of the other rear supports.

TOOLS1:1 HARDWARE

M8 x 19 mm Screw #3 Phillips Bit

Attachment Points

https://www.sitonit.net/


8  |  C5902 Rev A  |  www.sitonit.net  

Lumo POWER KIT ASSEMBLY INSTRUCTIONS

Step 5: Attach the power modules anywhere along the seat deck front 
spreader.

TOOLS1:1 HARDWARE

M8 x 19 mm Screw

Modular power kit comes standard with 
two power modules, but splitter will support 
three power modules. Additional power 
module can be purchased separately. 

Attachment Points

https://www.sitonit.net/


C5902 Rev A  |  www.sitonit.net  |  9

Lumo POWER KIT ASSEMBLY INSTRUCTIONS

Step 6: Plug the infeed into the splitter.

https://www.sitonit.net/


10  |  C5902 Rev A  |  www.sitonit.net  

Lumo POWER KIT ASSEMBLY INSTRUCTIONS

Step 7: Plug the power modules into the splitter. Continue to step 8 if the 
power module's cord does not reach the splitter.

https://www.sitonit.net/


C5902 Rev A  |  www.sitonit.net  |  11

Lumo POWER KIT ASSEMBLY INSTRUCTIONS

Step 8 (Optional): Use the jumper to span the longer distance from the 
power module to the splitter

https://www.sitonit.net/


12  |  C5902 Rev A  |  www.sitonit.net  

Lumo POWER KIT ASSEMBLY INSTRUCTIONS

Step 9: Use the P-clips to manage the spare wires. Tuck any additional 
wire length inside the zipper pocket.

Attachment Points

TOOLS1:1 HARDWARE

M8 x 19 mm Screw

https://www.sitonit.net/

